137 fb™ (13 TeV)

T O07Fcwms elutiets 250 < M(tf) < 420 GeV
8 06 F Preliminary  parton level 4 pata
Q = Sys 0 stat
= = Stat
~ 05—
o O 3 POWHEG P8 (CP5)
% = POWHEG H7 (CH3)
o & 04 : MG P8 (CP5)
6|2 b I MATRIX
e V.o
S Boels dbuly
-%0.2; {'O}u}.{;{».};{”};
0.1
- =
2| s F
é g 14p
712k ;
T e e RO
5 i e e SRS 2 T
08 ‘
-1 -08 06 04-02 0 02 04 06 08 1
cos(6%)
137 tb (13 TeV)
kS 0.9E.CMS elutiets 520 < M(tE) < 620 GeV
8 "7 F Preliminary  parton level 4 Data
Q 081 Sys O stat
Z o7 Stat
S E 3 POWHEG P8 (CP5)
% 065 POWHEG H7 (CH3)
3 E : MG P8 (CP5)
£ 8 05E I MATRIX
2 04F
~— = T 1
Bl el % { A
p= 0.353 % .
0'2? ¢ gt 4 ¢ el a
0.1 LSk ERPLIN
E Il Il Il
- =
2| F
§ g L4p |
712k } ] + } l ; }
l: l } - % ] l ==t f
EJ f T T ¥ I
08
-1 -08 06 04-02 0 02 04 06 08 1
cos(6%)
137 ™ (13 TeV)
L 014 CMs elutets 800 < M(tE) < 1000 GeV
& 7 [ Preliminary  partonlevel o pata
o 012F Sys O stat
= F Stat
£ 01 i POWHEG P8 (CP5)
5 r POWHEG H7 (CH3)
o 8 0.08 - T MG P8 (CP5)
| 2 = I MATRIX
2006 i
= :% '} i % -k {
T 0.04—
0.02—
r o veta o, eceig
C L L L M A\ ® L N L L
-~ =
2| s F
§ g 14p ’
T R
F I
| EENEREDY! bt plld
af f ! R S
08 [ ! L ‘
—i. -0.8 06 04 -02 0 02 04 06 08 1

cos(6%)

137 th™ (13 TeV)

f 16 F CMS elptjets 420 < M(tf) < 520 GeV
& 1.4 Preimnay  paronlevel o Data
o C Sys [ stat
=3 12— Stat
S r i POWHEG P8 (CP5)
s 1 POWHEG H7 (CH3)
Q C 1 MG P8 (CP5)
oS 08F T MATRIX
(= L
S oshi L bl
0.4
E *‘i‘i,hi.*.§'}‘
0.2
- =
2| F
E g L4
g ’ | | L ’
1% L4 + i H T % % ! %
08E . e R R ‘
-1 08 06 04-02 0 02 04 06 08 1
cos(6%)
137 b (13 TeV)
kS FCM elutiets 620 < M(tE) < 800 GeV
8 0.4 [ Preliminary  partonlevel o Data
o 035 Sys [ stat
= E Stat
o 03F i POWHEG P8 (CP5)
1 E POWHEG H7 (CH3)
ol 89k T MG P8 (CP5)
o .E 02f T MATRIX
50.15;% n{ s % o{ ¥
° =
0.1
0.051 S e, e
E L L L L L
- =
2| F
E g L4
[= E
iR U Ty
T b i 11
08 A R R ‘
-1 08 06 04-02 0 02 04 06 08 1
cos(6%)
_ x10° 137 fb™ (13 TeV)
S 7ECMS elptjets 1000 < M(tf) < 3500 GeV
8 E Preliminary  parton level o Data
a 61— Sys O stat
= = Stat
5 5 + POWHEG P8 (CP5)
z = POWHEG H7 (CH3)
ol 8 4F $ MG P8 (CP5)
R g I MATRIX
s R foabd
T 2
1
E T e et e ey \.}\‘
- =
2| F
§ g L4
LRI l J ’ }
1:l Lt {' | ‘} ‘ % | bl l
T t 1 ! 1 T I
0.8 ‘

-1 0.8 06 -04-02 0

02 04 06 08 1
cos(6%)



